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Note : This paper contains fifty (50) multiple-choice questions, each question carrying

“lg:

two (2) marks. Attempt All the questions.

AL AR v (W0) aglisedly usdil 8. e3s useu A(R) Ja B,

o8l Maidql By duil,

Which of the following Indian Philosophers laid stress on the education of
commoners ?

(A) Mahavir (B) Shankaracharya
(C)  Buddha (D) Ishwara Krishna
N Yt [Baw w2 sul eudly dalidd ey ysui 87
Q)  Hadl: B) s
C) og D) a3 Bwy
In the school of philosophy called ‘Idealism’, the reality is viewed as :
(A) Relative (B) Absolute |
(C) Contextual (D) Experiential
sedate/ R ale deastisi-il Rauai2 s ‘aRdldsdl qedw .. ... Aa/md
S A B |
(4) A B) e
() deol D) ety
In the Indian Philosophy, the term ‘Relativistic Pluralism’ is represented by :
~ (A) Shunyavad (B) Syadvad
(C) Lokayat (D) Kshanbhangvad »
‘WA ogate’ Al Aseudt eurdly desueni L 4 waRa 53 & -
(A)  Yryate (B) ledle
©(C)  dislud D) aacidale
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Which of the following schools of Philosophy will propose the disestablishing
of formal educational institutions ?

(A) Logical positivism (B) Positive relativism

(C) Idealism (D) Existentialism

AR Rt AReuviidl Biszenfdid Rauad 2 2u0el deastiq-l 56 [
Gl Sl 2a | |

@) lFs Qauas @B) RAuds wdade

© ucdas/Raae @O) »Bdcaae

Which of the following is a correct match for items indicated in column I
in terms of items in column II :

Column 1 Column 1II

(@ Sankhya ‘ (i) Dependent origination
b) Vedant;a (ii) Anekantvada
(¢) Jainism (iii) Monism
(d) Buddhism (iv) Dualism

(@) () (0) (24
@A ) (iv) (i) ®
B . (v (iir) ) (i)
© ® (v) () ()
® ) (@) (@) ®

Reiol—1 > Rewst—2 Al 20uda Radia 03 20l Rseuinidl sl wul [@Qsey
AS 97 . ,

Reita—-1 a2
(@ uvy @ sl Aycule
(b) QAsiwd () dAsidale
© = %t desit (i) diaddle
(d) ollg dedstid (iv) sdale
' (@ (b) (0 (d)
(A) (2i1) - (@) (@) @
(B) (iv) (iiD) ® (@)
©) @ () (110 (@)
D) (iv) (iir) (@) 0]




Who envisioned education as a man-making process ?

(A)  Aurobindo Ghosh . (B) Swami Vivekananda
(C) Rousseau D) Tagore

[ae 21 As wdq wsdal wBu 8 Ag sid el 87

A)  3[de iy | B) el [QdsiHe

© 3 | @) 2l

‘That which is useful is true’ will be accepted by :

(A) Idealists _ _ (B) Realists

(C) - Pragmatists (D) Naturalists

‘¥ Gl B A ¥ A A ..., "Gt eflsd sl 2qd -
@ edadeiRaragll (B) ardaudlai

(C) Myl @) uglQaulzi/Fieludisi

Which of the following statements in respect of National Values may be
considered to be enshrined in the Indian Constitution ?

(A) My Country—Right or Wrong

(B) One country without tolerance for diversity of any kind

(C) 1In a country everybody has a right to education

D) A good country 1s that which is classless and casteless

cdly ofaiemi zecﬂ AN el A 2ude Qe 33, Qau atefs
53 87

(A) Rl 2w - WAl 3 vid

B S wa usiRd RRYAL WS As 29 4] Wl 1 iy

(©  Adl s 2u 3 ¥l 353 Qe ss s

D) s Adl WA 24 ¥ WIRRA 23 wRRRA S

‘Knowledge is Power’ will be acceptable to which school of philosophy ?

(A) Logical empiricism (B) Logical Analysis .

(C) Naturalism ’ (D) Realism ° :
‘Wt A wBd 8. dvaadl 5§ Qg 2 QA Wl ¢l ad?
A) s Aqeqae B) dulis [@sduy

(C)  uglaae/[Auolae D) aRrdadle
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10. “Education is basically a process of transformation”, according to :

(A) R. N. Tagore (B) - Aurobindo

(C) Ramanuja ®) Ram Tirtha

Cluae A yaed A 3vidarl abw 8. dallds ......... AL VGAR

@A) Axmseia 2wz ®) »:fde

(C) ALY @) U |
11. Which school of philosophy considers knowledge as an ‘Emergent synthesis’ ?

(A) - Logical Positivism (B) Positive Relativism

(C) Logical Analysis (D) Logical Empiricism

acasidl 58 R ‘i Qsrela Ao’ a3 ad 97

A) s [@Qauae @) Rbuets wlaale

©) s [sana @) cdifs wugeade

' 12. ‘Sarva Shiksha Abhiyan’ has been designed to :
(A) meet the eduéational needs of the poor
(B) address the aspirations of the masses
(C) fulfil constitutional obligations
D) please the weaker sections of the society
cqdian vl AL sAL wdd & gl -
@) ool dafis sudisdil . 53 w
@)  guypia-d wusiazia Acdidl sty
© siaelly Aarasia ylayel 53 as
@) Wl Ao adlid yu s3 ws

13. Education as social system has the following characteristics (which one is not -

correct) :
(A) It is meant for individuals of society
(B) It is being managed by individuals of society
(C) It is meant for development of individuals
(D) It is related to upper strata of society '
Ruae 3 wils il dily A e qas aud & (s w3 ) :
@) Wl Al w2 a8 Al Al el &8
@) Wil Al gt -l daral A 29
© aBdviil Rs W 4 8
@) A AL Gual A Wl Avy qud ®
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14.

15.

16.

The term modernisation best connotes :
(A)  Economic upliftment of the people
(B) Change of political system

(C) Cultural revolution

(D)  Spiritual upliftment of the people

2ugRsdil Aseyridl Guw e wy © -

@) disi-l 2uls GR

B)  UXSU A WRadH
© Aiglas sila |
@) disi-ll suefis Gy

The foundations of democracy may be best described by the set of phrases :

(A) Independence, Equality and Brotherhood

(B)  Social Stratification and Social Development

(C)  Economic Strata and Economic Development

D) Cultural Development and Nationality

dAlswelil 28l el A wue su ok AYel a8 (ma Ad aeld]
USIY

(A)  RAdadl, AL 1A sige

B)  wulFs qallse 27 aulss Qs

© 2uls d2 2w 2uBs Qs

O ARgls Qs A Uluar

Secularism means :

(A) Everybody gets equal vocational opportunities

(B) Freedom to provide religious education to all

(C) Each one has freedom to practice his/her our religion
(D) Each one behaves as per his/her religious laws
[BrruivelRsdl sed :

Q) e3s AaAl WA dSL M Ay

B udA alls Qe w3 wsaidl adsial
(©) €35 Aldd il a3 waadl adstdl

@) es al3d d/asl- wbls Fusd AR ad
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17. The most important facilitator of social change is :

(A) Education (B) Religion
(C) Ethnicity (D) Caste
Arulys wRadd W2 ol deesdl o 9
@A) [Raw @) i

©) dalaud ®)

18. Social mobility is largely attributable to :
(A) Availability of job opportunities ‘
(B) Desire of the individuals to move from one stratum to another
(C) The parental pressure
(D) Politics in the society
Hee i Auls olalladl .......... Ada e
@) AAsAAl asi-l wltd
B®) ABavi-l s wuifl oflog AL Al dedal
(© udluiini eousl
D) WAL WAL UALSIR
19. The characteristic of Indian Society, that distinguishes it from other societies
is :

(A) Its caste system (B) Its religious system
(C) Its unity in diversity, (D) Its multilingualism v
olcdld A F @R A v AU ¢adL WS & ad ..eneen. 8
@) a-{l ealana @) a-l wbBlsna
(©) Al Rfadmi 2isdl D) adl slgeunuslaae

20. The constitutional provision for upliftment of weaker section of society is
creating :

(A) New class system

(B) Gender sensitization

(C) Equality of opportunities in job situation

(D) Depression among talented population

AL Ao adll-l Geant el slanrelld sy 4% O ¢
@A) Adl ealana

@) (@ ud-l et

© s Wwust ast

M) axll disini eaiaudl aowll

Edu—I , 8




21.

22.

23.

24.

A child insists on learning through new games provided in a computer. It
may be treated as an example of :

(A) Modernization in learning (B) Acculturation in learning

(C) Socialisation in learning (D) Globalisation in learning

s oos $yeul QA Adl el gl ViU s WS 2UAS 5 D Wi
GelsQ owRg ASA

A) - veuunll 2ugMsdg (B) visuu--i isfisaay

(C) eyt AU[Fs20e D) eyl dscdlsey

In what way ‘politics’ contributes most to education ?

(A) by reducing the fee hikes

(B) by making ‘students freedom’ a right

(C) Dby framing new educationai""policies ;

(D) by enacting laws which favour students and teachers

A1 56 Jd Ragil Head ol Hod 97

A) sl aumi sast s

B) ‘[eanelaiqAfl Adatdl’ A esril e A

© Adl Riea-lfQai agla |

O ([Qaelal 3 Rasid ddaui du Al s asdy s394

Who contributed the most for upliftment of weaker sections of the society in
India ?

(A) Sri Aurobindo , (B) Vivekananda

(C')A Gandhiji (D) Tagore

cilRdly Wuwnl Ao ol Gealld, W2 WedH ool 519 oedl?
@A) sl »fde B) [Rasi-e

© aidlw | D) 2L

The caste system tends to ceate :
(A) An open society

(C) A dead society

alanal a8 Ay © :

(A) Y5 WU B) ol Wy

(©)  ¥Hd AUY @) uRad-ella aux

(B) A closed society
D A changing society

Edu—1 9 | PTO.



25.

26.

217.

Reinforcement in behaviourist school of thought may be a : -
(A) Stimulus that follows a response

(B) Stimulus that preceeds a response

(C) Stimulus that 'proceeds or follows a response

D) Stimulus depending on the occurrence of a response
ad-digl PRI MqAIR Holat 2L 25 U5 ¢

A)  GAus ¥ wRAWA 24U B

@) GAus ¥ uRar- yd ¢ 8

© Ghus ¥ uRa yd €lu @A AgURd ueL sl

@) uRAR u wwadld Gdus e

Thorndike’s ‘Law of Effect’ operates through E

(A) Strengthening S-R connections

(B) Weakening S-R connections

(C) Reinforcing every stimulus ‘
(D) Strengthening S-R connection through a satisfying state of affairs
Aifsidsdl ‘@Al Ralad’ ...l o5 s 8

(A) S-R -l Hoid sldrianl

B) S-R -t el vildrianel

(€) uAs Gusu uAan ad

@) dAdiveis RuRl 48 S—R e wyed s34

What is the critical factor in conditioning through Pavlov’s classical procedure ?
(A) Pairing of a stimulus with a response

(B) Repetition of a stimulus-response connection again and again

(C) Pairing of a neutral stimulus with unconditioned response

(D) Pairing of a neutral stimulus with unconditioned stimulus

yadladl wrefly vigelad WMl suL suaeid wReiad wuowrian wa 87

(A)  Gusd QAR WAL Youn

B) GAus-aRAR wRUAG AT Yuad-
© Brivrifia R Wl de Gdusd youn
D) dex GAusy BiririfBd Géus wdd you-

Edu—T 10
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28.

29.

30.

In classical conditioning, extinctin is said to occur as a result of :

(A) Unconditioned stimulus followed by conditioned stimulus -

(B) Conditioned stimulus followed by no unconditioned stimulus

(C) Conditioned stimulus followed by unconditioned response

(D) Unconditioned stimulus followed by withholding of conditioned stimulus
we{la ARREHAL, Qdy 21 wRes a3y wa 8§ %l ¢ |
@A)  BesrifBd 6us 2qlRIAL Glusn Adgu?

B) R Glus Brilarilad Glus giat L AqAAY

© RIA GRus BiveriBd wQaid »duR &

O) Bfrid GAus 2RI Glust »azg s3R AU 8

In operant conditioning paradigm which of the following is optional ? -
A) Cue |

(B) Response

(C) Reinforcement

(D) Response-reinforcement contingency

5135 wRRiaD A DA-umidl sdl dslus 87

&) Wd
B) ulaar
(C) usa+

®) aRa-uead Fefdl ,

According to which of the following theories, structuring and restructuring
of experiences gives rise to learning ? ]

(A) Insight theory of Kohler (B) Sign-gestalt theory of Tolman
(C) Reinforcement theory of Hull D) Field theory of Lewin

A3t Bigidini-l s Rigid 3ot vigetddl A 247 YriRiArw gl sl
Geotn iy 87 |

A)  Sed-l widyy Reld  (B) dddddl Add-uun Reld

(©) sl uoaq Rgid ®) ARl ax{lu Rusla -

Edu—1I 11 ‘ PTO.



31.

32.

33.

- (C) Rule learning
AL AsHUL Aseurity U’ Hi ..., 4 Axde 29 AR

In Gagne’s hierarchy, ‘Concept learning’ will not include :
(A) Sign learning (B) S-R learning

(D) Discrimination learning

(A) A3 YA (B) S—R vy
© [Rud sy (D) dleolius YA
Principle of continuity in Growth and Development means :
(A) Growth and Development are uniform

(B) Growth and Development are predictable

(C) Growth and Development are linear

D) Growth and quelopment are never ending process
qlé 2 RSl Adei Rigia-dl w1 iy ©

@) qla 24 Qs 25 uuwi &

B)  als 2 [QAsug elssud 530 ws ©

© 9l A Qs A vy B

O) & x4 [Qsp-dl uBad sal 2id ad) -l

The main objective of Rewarding is :

(A) encouraging a person

(B) To get desired action repeated

(C) To set an example before others

D) To give donations

Y15 You &g &

A)  ABdA WuRd 53

B)  SRod sidq yrnadd w 539

(C) A Uy Geled Y3 wisq

M)  iteidl 2uyaL

Edu—I1 ‘ 12




34.
<
i . 35.
|
|
|

36.

2

Which of the following is not used in describing intelligence ?
(A) Learning capacity
(B) Capacity to deal with abstraction

(C) Capacity to accomodate and adjust

(D) Capacity for rote-memorization

oled asld saumi DAl sal [Asen Guaidi 2iadi «fl?
(A) oY~ @Ml

® wyd R ad sel sal ana

© AHYdl v wudio-{l axa

@ vyl aud

It is not necessary that a creative child has a :
(A) necessary level of intelligence

(B) knack for doing things in his/her own way
(C) gift of gap ' |
(D) new way of accomplishing results

Aq 3 el 3 uFnlle ouas WA :

A)  ofaddl W2 pias QR Sl

® wdil A4 delja-uni s sardl saldl sln
© [Rsd 2anyldd A gin

@  uldoud did sced Al el €in

Which theory views personality as a continuum ?

(A) Type theory 7 (B) Trait theory

(C) Psycho-analytical theory (D) Role theory
Aldavadl sdl Rigid ABdw@d Add 2 &7

(A  usik Riaid B) aaa [Agid

(© H-ifasana Rigid - @ eAsi-Fale Rsid
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37.  Origin of hypothesis lies in :
(A) Data collected during research
(B) Results obtained after data analysis
(C) Interpretation of results
(D) Richness of background knowledge
Geseuritild Ge™aRaA ............ Hi Wy B
@) A eBad wlRdld AsaAlsaa
B) el yassa ene wrd adai uRad
©  wRwudi- wfyen
O 2aRd il uygdt
38.  If a score of 5 is added to all the scores in both the groups (X and Y) while
tabulating for correlation, the value of coefficient of correlation will :
(A) increase (B) decrease
(C) become zero (D) not change
WAL ol oAl (X 21 Y) Hi 5 1 q@uisn GAIN weaioly w3+l oligaell 53
WA dl M AsAsiUAl AR5 ey
(A ud | (B) ligg udl
(© Ly ad (D) seald AR
39. In a t-test, SD is near zero in both the groups, the difference in mean scores
-~ will be : | |
(A)  Quite high and significant
(B) 'Quite low and significant
(C)  Quite high and not significant
(D)  Quite low and not significant
A t-5AEM ol ogelini SD grusll AAos €y dl wd s il astad ..........
Y4l : '
(4)  del Gl uA wefyys
B)  dest Al A 2eys
(©)  det Gl 2 wyas R
@)  det flAl 2 wyus AR
Edu.——H 14




40. Internal and external criticism are part of :
(A) Evaluative Research (B) Historical Research
(C) Descriptive Reséarch @) Experimental Research
s A oue wdla ...l Al oL B |
(A)  Heuisuv faiad ® wlasils A4
© asl-ucis elad | ©) Wdoues Al
41. In an experimental research : ’
(A) Tools of data collection are manipulated
B) Hypotheses are manipulated ‘
(C) Data are manipulated
(D) Variables are manipulated
Wil AW ¢ |
@A) R Az sl Gusel Qo suui 20d 8
B) Gescuuvll Qofl s2aui 0 8 |
© R Qell sruui 20d &
@) 3l Gloti sl 2d 8
49. Rank difference method of correlation is usually used when :
(A) Raw scores cannot be converted into standard scores
B) 'Raw scores are not linearly arranged
(O Quantitative value for certain factors cannot be fixed
D) No prediction is to be made
weaioia-dl s:id dsidd YeR-l A-ald Gudid an § Ful
A) Haod SR wfRd yRuisiHi FuidlRd 4 s3I us
®) uoeid Al olsaell 4w |
©) 3eais uwRol w2 ullas yeu RallRa 4 53 asy
@) sidust g s3I wsi
Edu—1I - 15 , PTO.




43. What is the main characteristic of a Normal Probability Curve ?

(A)
(B)
(©)
D)

The curve is rectangular
All scores have similar value
Mean, Median and Mode have similar value

First and third quartile have the same value

AU ewartl a8’ o e dan sy B?

(A)
(B)
©)
D)

A% W deAl 2yl 8

ol sl A ey ¢ig |
ALY, HORY AA ogasd UM 3eu el
Mad uA qdly aduind A o yeu €ig

44. The difference between Action Research and Fundamental Research is

that :

A)

(B)
(©)

D)

Action research utilises smaller data and Fundmental research requires
larger data

Action research is need based and fundamental research is utility oriented
Action research aims at problem solving and fundamental research aims
at building theoretical framé work |

Action research is criterion based and fundamental research is hypothesis
based

[Buicis dallant A yooyd 2Asdaq 9240 dsiaq A @ 5

A)

(B)

©)

D)

Edu—II

[Baucis Ananni Aew iR Gudioy am & v Yaeid AgllaAui agll
WAL Guylor sy &

[Barcis e 73ad w2 2l & wa Yaeyd Adaq Guaibial yr
209130d. &

[Baicis Astanddl 8 il Gladl & 219 Yoy Aalladdl dg Agils
3udvi sl §

[Farcns Aoiad 08 wand & YA AU Beseynl 2ie g
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45. - Main utility of Standard Deviation is that, with reference to average it depicts
the :
(A) Status of an individual in a distribution
. (B) Division of group into different sets of small groups
‘ (C) Percentile status of a group
(D) The score around which other scores in a group are clustered
yuwieyd Radd-l you Guiibl A 8 3 d ... 4 Aol »ud @
@A) asaelil alda-dl Rala
B) ud Rous- et el -t gamiq adls
© ol adisliy uRfRaly
@) ogadi-iL daisl AW 2y YRuisi-i 2AsAL539
46. The median in a distribution of scores is a point :
. (A) Below the mean score
(B) Above the mean score
(C) Below which ‘one half _of the scores lie
, (D) Which corresponds with mean and mode
f were A qaisi-ll adaslld s Big 8 % ¢
@A) w3y yaisied AA Rad ©
@) w3 uisidl Gu Rud &
© ud ais sl fA Rad &
D) ¥ AU A 6ig@s A Aa vy 9
47. Which of the following will not be considered an example of educational
‘ research ?
(A) Systematic attempt at gaining better understanding of educational process
(B) Understanding, explaining and predicting human achievement
(C) Making intuitive guéss about human achievement
(D) Developing a body of organized and useful knowledge
A2 2uda Gersreinidl sy Aalds Q{QLLEH:L Geler@ wudl -l :
@A)  daRs wBFwd ag w3l Ad auoaHdl digHise dHR
@) ey R wny, dugdl w4 euld vies
© Al Rz 20000 vidargaun 2ualfd vesn
@) AARA A Guyuldll s+l A=Al [@Asi
Edu—1 17 PTO.



48. In hypothesis testing type I error implies : :
(A) Accepting an alternate hypthesis ;
(B) Rejecting a null hypothesis when it is true }
(C) Not rejecting a null hypothesis when it is false v
(@) Rejecting a directional hypothesis when null hypothesis is false
Beseuritll Astuelui AR usi—1 xRARA & 3 :
() [seuris Geseuriel flsiz s34l
B U WY €lu AU YU Beseurdil q:dl512 s34
(O U AU Sl A Yo Beseuriiell viadlsz « s34
D) BU Y Geseull AAA ¢ld A FZes Goseuriirll 2iaclsiz s34)
49. There is a need for research in education as : ‘
(A)  Education borrows its many concepts from other disciplines
(B) Number of schools and colleges are expanding very fast in India

(C) Many people need education in India

|
|
1
(D) Large n_umber of problems in education remain unaddressed 1
[Raad Aaaddl suasusdl & s 3
@) aw Al aell wdl Asen-uall ol Reedaidl Gl & & |
(B) MRl woupl A wsiRenedly Avaicts A wsudll Rrazel 4l E
3]
(€)  ouRddl qen disii Baw -l suausar 8l &
@) (el »Rivy il 9a63dl € 8
50. A complete, accurate and upfo date listing of all units in a population is called :
(A) Sample (B) Sampling frame
(C) Sampling unit D) | Sample report
Aufasadl yof, Aissu 2 20y wdaHl REAA L sey 6
A) Ayl B) tyrug Moy
(C)  ~yru-l sy D) Y4l v
Edu—I1 18
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